SEEMS  BEEERETICHEIT 25K

RERORDIHARITIRTE (FALS0FE8 AR REFBERETHY . BEI SEEERARMHIUTOESYTHS,
BE.EHOATHTEFEIHETEERAITETESEETHY . AFXRIZBTHEREFIRTELGL,

A il &R EDEH B FF
RIS = H20 5 A 58 - 208 B ek Bk 982+57 767+49 900+49 520+35
LA ¥k (H29.51R7E) 1039 816 949 555
1R B+ 45 B+ B +25 B+
= +6CR +6CR +8CR +1CR
2[s 8CR 14 +5CR 8CR 10CR
H297SARR 3 11CR 24%5+9CR 8CR 4CR
AR
& &t 25C+A4%+ B 20C+54% 8 24C+245+ B 15C+2%+B4:
Ay AT IA 28C%) 24C% 26C%3 17C%
RRITAH(ERMETDHED 26C+A%E+H; 23C+545+HE 24C+245+1; 15C+243% -+
B L e 29C43(H33) 27C53 (H41) 2605 1704
L4 WD*H &
ClI(BEa>TT) L
TSR 1500%950%1600| 1 5 4 4 3
C2(BEaVTF)
10552/ 14 1500%950%1600( 1[& 3 3 3 2
[ 10 9 27 4
20 9 7 0 11
%%%Eﬁé’i )i 1300%700%1100
: = 3L 12 11 0 5
A% 31 27 27 20
D(LE&EH) 900*+700%800 11(6+5) 11(6+5) 7(2+5) 9(6+3)
WQEk73Y) 900%750%800| 1f& 2 2 2 2
HEERE) 650%625%1890| 1 1 1 1 1
BRAEX(F3) 1200%900%1950| 1[E 1 1 1 1
BRAEND(FEL) 900%900%1950| 1 1 1 1 0
ABE(THY—H) 1200%800%1890| 1[E 1 1 1 1
BEE(TY—R) 900%800%1890| 1 1 1 1 0
e DSABOEH - HHXIE2CR=1CRY, . BEEE=1CR}ELTHRE,

EDOERER . EOEPFEROA. FER)BOREBELLLHFE.



